STORY

Amjad studies in class two. One day Amjad was going to
home from school. He saw red flowers on the way. Amjad
wanted to get those flowers for his mother. Amjad ran fast
across the farm. He fell down near a banana tree. Amjad
started crying. The farmer saw and came to him. He gave

many flowers to Amjad. Amjad became very happy.

Questions:

(A What class is Amjad in?

B] What did Amjad see on the way home?

C] Why did Amjad start crying?

D] Where did Amjad fall (down)?

E] Why did become Amjad happy?
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NUMERACY

Tell me what this numbers are below?

iz 9 12 /30 48 | 74| /31

Tell me which one is bigger?

7 5
11 24
58 49
65 67

146 154




®

UL

u:/t’.é/)!Q/Lﬁl(f‘id/:_m/;h;l’fun'&z(guﬁ-u,?c;Ma{/?UQ{,
-C‘—&‘(M/e‘fdf

= 9 12130 48 74 /31

?%&/MU}(J/U:/@A‘W{)J/JU}’MU'

7 5
11 24
58 49
65 67

146 154



ADDITION

Tell me the answer. (number + number)

(You can use the pencil and paper if it helps you)

3+2=

8+6=

7+3=

13+6=

12 + 24 =
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2+3=

3+7=

6+13=

24 + 12 =




MISSING NUMBER IDENTIFICATION

Fill in the Blanks

Here are some more numbers, would you like to tell me what

number goes here?

5 6 7 L
14 15 L 17
20 L 40 50

2 4 6
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2+3=

6+8=

3+7=

6+13=

24 + 12 =
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